ﬂé Examining Digit Place Value Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

Answers

Which choice has a 3 with the value of 300 or 3 hundreds?
A. 394 B. 3,481 C.537 D. 9,837 1
Which choice has a 1 with the value of 1,000 or 1 thousand? 2
A. 51,796 B. 5,961 C. 14,896 D. 4,951 5
Which choice has a 2 with the value of 20,000 or 2 ten thousands? 4
A. 257,631 B. 928,756 C. 89,372 D. 354,692

5.
Which choice has a 1 with the value of 10 or 1 ten?
A. 981 B.21 C.13 D. 591 6.
Which choice has a 8 with the value of 800 or 8 hundreds? [
A. 8,754 B. 385 C. 859 D. 83,491

8.
Which choice has a 4 with the value of 4,000 or 4 thousands? 9
A. 4,562 B. 9,354 C. 452,187 D. 498,251

10.
Which choice has a5 with the value of 50,000 or 5 ten thousands?
A. 654,287 B. 78,215 C. 182,956 D. 65,927 11.
Which choice has a 9 with the value of 90 or 9 tens? 2.
A. 49 B. 9,341 C. 983 D. 894
Which choice has a5 with the value of 500 or 5 hundreds?
A. 8523 B. 485 C. 795 D. 654
Which choice has a 2 with the value of 2,000 or 2 thousands?
A. 9,621 B. 2,614 C. 274,193 D. 239,481
Which choice has a 7 with the value of 70,000 or 7 ten thousands?
A. 76,214 B. 817,459 C. 46,237 D. 27,134
Which choice has a 9 with the value of 90 or 9 tens?
A. 958 B. 95 C. 958 D. 9,246
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ﬂé Examining Digit Place Value Name:

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

Answer Key

Solve each problem. Answers
Which choice has a 3 with the value of 300 or 3 hundreds?
A. 394 B. 3,481 C.537 D. 9,837 LA
A
Which choice has a 1 with the value of 1,000 or 1 thousand? 2 _
A. 51,796 B. 5,961 C. 14,896 D. 4,951 5 B
Which choice has a 2 with the value of 20,000 or 2 ten thousands? 4 C
A. 257,631 B. 928,756 C. 89,372 D. 354,692
5. _C
Which choice has a 1 with the value of 10 or 1 ten?
A.981 B.21 C.13 D. 591 5. A
Which choice has a 8 with the value of 800 or 8 hundreds? ! L
A. 8,754 B. 385 C. 859 D. 83,491 D
8
Which choice has a4 with the value of 4,000 or 4 thousands? 9 A
A. 4,562 B. 9,354 C. 452,187 D. 498,251
0. B
Which choice has a5 with the value of 50,000 or 5 ten thousands?
A. 654,287 B. 78,215 C. 182,956 D. 65,927 1. A
Which choice has a 9 with the value of 90 or 9 tens? 12 i
A. 49 B. 9,341 C. 983 D. 894
Which choice has a5 with the value of 500 or 5 hundreds?
A. 8,523 B. 485 C. 795 D. 654
Which choice has a 2 with the value of 2,000 or 2 thousands?
A. 9,621 B. 2,614 C. 274,193 D. 239,481
Which choice has a 7 with the value of 70,000 or 7 ten thousands?
A. 76,214 B. 817,459 C. 46,237 D. 27,134
Which choice has a 9 with the value of 90 or 9 tens?
A. 958 B. 95 C. 958 D. 9,246
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